: :g?nﬁsldntbf-&ﬂg-and MOy
" (d) ) emissions of CO,.
: pressure rise for ues not exceed
ﬂ (a fan does not ratse the pressure}

:'f 33':;::11 Yok wd 11325 P2
) 01. VR e

" V-d;l 0.1. \_u:fj __,\J‘-}\

= &
The specific heat at Mm is 21 J %

ﬂ the amount of heat required to raise the temperature of 1 kg of wa{er through one degree.
b) the amount of heat required to raise the temperature of unit mass of gas throughone

degree, at constant pressure.

¢) the amount of heat required to raise the temperature of unit mass of liquid through one

degree, at w:‘gy_g%
the amount of heat required to raise the temperature of unit mass of gas through one

~ degree, at constant volumey~

5. The gas constant (R) is equal to the
i dlfference.




S

________ pen system which permit the

2B flow processes ;
¢} adiabatic processes.
| None of these.

10. Which of the following is correct?

P Absolute pressure = Gauge pressure + Atmospheric pressure.
b) Absolute pressure = Gauge pressure - Atmospheric pressure.
€) Gauge pressure = Absolute Pressure + Atmospheric pressure.,
d) Atmospheric pressure = Absolute pressure + Gauge pressure "

' 11. For aclosed system, an adiabatic process is one in which? = ﬁ"’"’
a) No heat enters or leaves the gas. &~

b) The temperature of the gas changes. &4 — 29 —» T g% oMe-%2

¢) The change in internal energy is equal to the mechanical workdone.  piu=wo
e All'of the above. SR
12. The specific heat of water is ki/kg.K. 5 ge G
= ' ' W= Coun T
b) 8.314. = I
c) 1.817. Ce

ken s

13. The device in which a pressure reduction occurs isenthalpicallyisa .

Turbine. |




| of an ideal gas, W= 0and aq.-:n Then fort
b perature will increase. B
_.gfl temperatu:e will decrease.
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the outlet of this turbine is _ 246 | kifkg.K.
T W Y




'Hrﬂwalw at the outlet of this t

I.jhlne is 5 ey ! '&51“'
d:« 27691 {}\‘@‘iﬁ' };).w% !

22, The Matthe outlet of this turhine is A 9
s :l 3;021 Hr e g+ (-0 . <= Tooot ta-fﬁg-_p.-;;-t":
&-’}N’@f’ 0.979 Py i p=of2 arpﬁ !
. w:.;mui ook
23. The power generated in this turbine is KW. Pred pat 10T pa AN R

a) 581 S G \,;F“

b) 1081 Tl‘m D e .
c) 1581 : g 2 E"

d) 1886 I

T

24. The isentropic efficiency of the turbine in the first part is %,
b)) 84
c) 100 :
: d) 119
\ '. .i " (A Aﬂ:‘} (uﬂfﬂ{ur:ﬁ&lu;‘_) ;
o fé__i_;lft'ha pipe diameter is to be fixed between the inlet and the outlet, then 1“%1&
| ty at the outlet to that at the inlet is about | i

33350 = X(270:63 )4 (
?“%.s! - i—r‘ ool




is initially at 21°C and 100 kPa.
) People will start feeling uncomfortable if the temperature exceeds 50°C. At what tin
the room reach this temperature?
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